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1. (10 pts) fEde Xy, X, HME R A2 0 9B S5 K (Bernoulli distribution) Z —
HREREE - SHHBT=X+ X V=X +5X, - RBA TRV ER 0%
SEEEHR WM TRV EWETE S S BB — LR BHHRE?

2. (20 pts) B8R X1,..., X, AMERATIIH 0 2 1585 B0 —ERBE K -

(a) (5 pts) B3R 0 952 WIS 4 EHR (complete sufficient statistic) °
(b) (5 pts) K 0 8B/ NERBF R (UMVUE) -

(c) (5 pts) B RIGW 5 A 2 R W HI B KL L& 51 & (MLE) -
(d) (5 pts) 8K (c) PEBRABIE S BAVEHIR K -

3. (15 pts) o3& X,..., X, AWEEHE U0,20) th— ﬁﬂmf&’fizﬁ
(a) (5 pts) 8K 0 IR/ NGB T(X) -
(b) (5 pts) 343k 0 69 AME LML B § - '
(c) (5 pts) BLR (b) IR AIELIEEHR 0 EE%E}J‘QF)‘?Q ?RITE?

4. (15 pts) B8 Xi,..., X, HWEREESE N(p,1) 69— ERMEE X » 5400 48
e AR E Ho p=po B Hy =y B opg <y e
(a) (10 pts) SHAMEBEBEKEL o TZREBTENRE (most powerful test) -
(b) Gpts) & po=0,y =128 n=9, a=005" XK (a) NEREZRE S

{power) ¢

5. (20 pts) EEREE REMEEMH AL (regression lines) 11 5 B (coefficient of
determination) BY¥RE - THEVEL PHNEEEREGHIERA —BERS)NAKSE
BRELR - 5557 BUIE A T U {7839 R -
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(a) SERIBD— R B A AR TR Y 8927
(1).Ya (2., (3)Y. ({)Y, (5). Ye
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(b) BBERIERXY = o+ 51X +¢ + 5HRIH— MR BAE B FIF B/ NP H & (method
of least squares) B¢ @ oV45 8 ?

1.Ya 2% @.Yv. 4).Y% ©6).Y.
(c) P8 (b) P EBEREOHE R AS D2
(1) kE#H (2. R2=0 (3). 0<R*<05 (4). =05 (5). R?>05
(d) HEBEHR Y = 5,X +e (EMEBIEIR) 3000 10 F A BN 75 54 B M 45 B
8 2 7] 2
.Y (2% @.Y. @)Y ()Y,

6. (20 pts) ¥EHIZHIFTIMAR A, B F0 C SHEREASR RGO IERT « LURSEINE (181 T
BIRAE TR ESHIHE L - TR S SRR T 4 [E%0s - AEFE 12 B
ﬁ%&%%rﬁﬁ—%&@&vmgﬁ@ﬁﬁﬁﬁ-mﬂmmmﬁﬁﬂiﬁﬁﬁ%
B T E 8%

Dependent Variable: y

Sum of
Source DF Squares Mean Square F Value Pr > F
Model 2 5.03381667 2.51690833 10.95 0.0039
Error 9 2.06927500 0.22991944

Corrected Total 11 7.10309167

R-Square Coeff Var Root MSE y Mean
0.708680 12.77245 0.479499 3.754167

Scheffe’s Test for y

Alpha 0.05
Error Degrees of Freedom 9
Error Mean Square 0.229919
Critical Value of F 4.25649

Minimum Significant Difference 0.9893

Means with the same letter are not significantly different.

Scheffe Grouping Mean N brand
A 4.4100 4 A
A
A 3.9800 4 C
B 2.8725 4 B

(a) (8 pts) A U 2 R B> 1T BB RO A A (R -
(b) (6 pts) BLUEY o = 0.05 B 5 = 1l B WA 00 i B | 75 7 °F [ 69 T BB 1 -
(c) (6 pts) MRERBRAFTGIEM MG ERAA — BRI ? AR




